
Task: PLA
Postering
Stage I. Source filepla.* 22.10–19.11.2007

Available memory: 32 MB.

All the buildings in the east district of Byteburg were builtin accordance with the old arbitecture: they stand
next to each other with no spacing inbetween. Together they form a very long chain of buildings of diverse
height, extending from east to west.

The mayor of Byteburg, Byteasar, has decided to have the north face of the chain covered with posters.
Byteasar ponders over the minimum number of posters sufficient to cover the whole north face. The posters
have rectangular shape with vertical and horizontal sides.They cannot overlap, but may have common sides.
Every poster has to entirely adjoin the walls of certain buildings and the whole surface of the north face has
to be covered.

Task

Write a programme that:
• reads the description of buildings from the standard input,

• determines the minimum number of posters needed to entirelycover their north faces,

• writes out the outcome to the standard output.

Input

The first line of the standard input contains one integern (1≤ n≤ 250000), denoting the number of build-
ings the chain comprises of. Each of the followingn lines contains two integersdi andwi (1 ≤ di ,wi ≤

1000000000), separated by a single space, denoting respectively the length and height of theith building in
the row.

Output

The first and only line of the standard output should contain one integer, the minimum number of rectangular
posters that suffice to cover the north faces of the buildings.
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Example

For the input data:

5
1 2
1 3
2 2
2 5
1 4

2 2  11 1

2 3 2

5 4

the correct result is:

4

The figures show the north face of the buildings chain. The second figure shows an exemplary covering of
the face with four posters.
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